
Warm Up

Graph the following on the same graph:

+

Do the lines cross?

3/6

(Use one of the graphs on the back of the sheet from 
last night's homework.)



+

any point on this line

is a solution for

2x – 4 y = 8



1.3 A and B Recap





How do we write equations
from a word problem?

Remember to read the problem 3 
times!



Read 1:  What is the problem about?
(general idea, no numbers needed)

1.     A theater production charges $21 for adult tickets and 
$15 for student tickets. If the production sold 102 tickets 
for its opening night and made $1,932 in ticket sales, how 
many of each type of ticket were sold? 



Read 2:  What do we need to find?
(this helps us define our variables!)

1.     A theater production charges $21 for adult tickets and 
$15 for student tickets. If the production sold 102 tickets 
for its opening night and made $1,932 in ticket sales, how 
many of each type of ticket were sold? 



Read 3:  What are the important #'s?

1.     A theater production charges $21 for adult tickets and 
$15 for student tickets. If the production sold 102 tickets 
for its opening night and made $1,932 in ticket sales, how 
many of each type of ticket were sold? 



We now have two equations that describe 
this situation.  They are called a

System of Equations.

x + y = 102

21x + 15y = 1932



Let's graph our system of equations 
using Desmos:
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Have Desmos tell you the common solution.





Homework

Finish classwork


